Easter Addition

Solve the following word problems.

Peter has 45 Easter eggs. He found 20 more in the
garden. How many Easter eggs does he have now?

Mary baked 30 Easter cookies. She baked another
batch of 25 cookies. How many cookies does she
have in total?

John found 15 Easter eggs in the morning. He
found another 35 in the afternoon. How many
Easter eggs did he find in total?

There were 50 Easter bunnies in the field. 20 more
bunnies joined them. How many Easter bunnies are
there now?

Lucy has 54 Easter stickers. She bought another 43
stickers. How many Easter stickers does she have
now?

There are 32 kids at the Easter party. If 17 more
kids join, how many kids will be at the party?

There were 30 Easter candies in the bowl. Mom
added 20 more candies. How many Easter candies
are in the bowl now?

There are 46 colorful floats in the Easter parade. If
29 more floats join, how many floats are in the
parade?




